LABJNDuS triangle lightness T*
Ync L w

T* nc=100,

T*L aganpus =[IN[A 1n+A2nY)I/(A20A0n)]
T*N(3,6)=218,T*(18)=496,T*(90)=772

log[T*/T*
T*o=771,96, £y 1,

T*1§=495,86, /y7 O
T#3,=218,08,1%; -

LABJINDu8
tristimulus value difference
YocmL*w

=100,

T*LaBanpus =[N[(A 1n+A2a)I/(A 20A0n)] (Ync/L00<Y<=Y,0)
dY=Agn(A1tAsnY)  Ap=0,017, A,=0,0058
Aon, DGFl 5, Aon,a=1,0, see CIE 230:2019
dV5=0,55, Ay=1,500, ¢=0,67
dY;=0,13, A =0, 017 Agn 0,0038
dY3,6:0x04 Y,=18, dY;=0,13
T+, =496 dY,=

*
3 dY,/Y,=0,0072 ¢

application
range

Y,=18
Yw=90

Ya23.6
log (AY/Y)
S=(AY/Y)

LABJINDu8

tristimulus value sensitivity
Yoc=L*w - nc=100,
T*LaBaNDus=[IN[(A 1n+A2nY)J/(A 2nA0n)] (Ya/100<Y<=Y,c)
AY/Y=Ag[A 1n+AYTY

(dY/Yyg=0,0061, A=l

(dY/Y%S—O ,0072, A\=0

(dY/Y’ : Az

0, 50038
0,079 Y,= 1& \(,:0

S
N
log(dY/Y)E-2,13 m,=-0,18" « -
T*,=496 dY,=0,13 dY,/Y,=0,0072
1

1
'y,=18
Yiy=90

application
-y J310e

YN=3.6
log (Y/AY)
C,=(Y/AY)

LABJINDu8

tristimulus value contrast
Yo=L*w - 6 :ne=100,
T*LaBaNDus=[IN[(A 1n+A2nY)J/(A 2nA0n)] (Ya/100<Y<=Y,c)
YIAY=Y/[Agn(A1ntA2nY)]

(Y/dY}=163,60, Ay=1,500,
(Y/dY) =
(Y/dy!

=0,67
=138,01, A=0,017, A,=0,0038
*=77.44 Y218 dy=0.13

*,=496 dY,=0,13 Yu/dYu 138
log(¥/dY)=213 m;=018,,

e application
range
Y,=18

(Yad100<Y<=Y,0)

log [(Y/AY) I (YAY),]

T LABJINDuS relative triangle lightness T*/T*,,
T*T* Y=L w
u

nc=100,

T aganbus =[IN[A 1n+A2nV)V/(A20A0n)] (Ynd/100<Y<=Y,c)
T#N(3,6)=218 T ,(18)=496 T*y(90)=772
FQOIT* \=1,55, Ay=1,500, ¢=0,67

» A=0,017, A= o 0038
T3 TA=0,43 T, =495 86 Y=L

log[T*/T* ]=0, m;=0,33
L* =49, T* ;=496 1
1
1

1v,=18
e

application
range

N=36

log (A YIAY,)
AYIAY,

LABJNDuS relative
tristimulus value difference
Yoe=L*w ~ ne=100,
T*Laganpus =[IN[A 1n+A2nY)V/(A 20A0n)] (Ynd/100<Y<=Y,c)
AY/dY,=AgnA 11+AanYI/dY,

dYeo/dY,=4,21, Ay=1,500, g

dy;g/dY,=

) A=0,017, Az =o,oo
dYsdY,=0,35 V.18, dY=0.13

log [AYY) I (AYIY),]

LABJNDuS relative
S/Su=AYMIAYY),

tistimulus value sensitivity

Yoe=L*w -~ ne=100,

T*Laganbus =[IN[A 1n+A2nV)V/(A 20A0n)] (Yd/100<Y<=Y,()

(AY/YYAY /Y =(ArtAg Y)Y (dY/Y),]
(dY/Yyg/(dY/Y)=0,84, Ay=1,500

dY/Y)g/(dY/Y)r
ng/Ygal(

. ¢=0,67
00, An=0,017. 7,=0,0038
vd(dY/Y)i‘-A 78 Y218 dY=0.13

Iog[(dY/Y)l(dY/Y)J] 0, m=-0, 161

T#,=496 dY,=0,13 dY,/Y,=0,0072 ~ application

nge

1y,=18
Y=90

YN=3.6

LABJNDuS relative
tistimulus value contrast
CrlCru=(YIBY(YIAY)y o =%, - =100

T*Laganpus =[IN[A 1n+A2nV)V/(A 20A0n)] (Yn/100<Y<=Y,c)
(YVIAYY(YIAY), =Y IYIAY Y)TA onAgrAgr VI (Y/AY),
(YIdYg/(Y/dY)=1,18, Ay=1,500, ¢=0,67

(Y/dY)g/(Y/dY)=1,00, A =0,017, A,=0,0038
(Y/dY%vd(Y/dY =0,56 Y,~18, d\=0.13

T*,=496 dY,=0,13 Y,/dY, #'To -
-
1

-

application
range

w=90

1y,=18
Yw=90

YN=3.6



